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= 5 1 U % 2. % 3- [0 % 4- P08
484BH~7H48) (7HA48B~10A28) (108 2H~1AH6H) (1B6H~4AH3H8)
1 126 *+= 15 126 =+ 0.6 125 =+ 05 122 =+ 00
2 132 = 00 135 == 0.6 133 = 0.0 130 = 0.6
3 112 = 06 111 £ 119 114 + 10" 109 =+ 0.6
4 145 =+ 1.7 139 =+ 29" 144 =+ 1.6 141 =+ 0.6
5 156 =+ 1.0" 163 =+ 1.2 159 =+ 1.6 158 =+ 25"
6 108 =+ 0.6 108 =+ 1.0% 107 = 1.67 103 =+ 1.2
7 111 = 1.5¢ 113 =+ 1.8% 111 = 09 107 =+ 1.2%°
8 141 =+ 06 143 =+ 1.2 140 =+ 05 137 = 1.0
9 121 = 0.6 122 = 1.0 120 = 14 116 =+ 1.2
10 108 =+ 0.0% 107 = 06 108 = 0.5 106 = 1.5
L E%t R 49 =+ 09 50 = 1.1 49 =+ 09 49 =+ 05
4R1B~7888) 7B1B~10A7H) (9HA3AB~1HA9R) (12H24B~4898)

*1: R EHMIZ4A5B~7A58TH%, *6: FREHMEIZ10A3BE~1A78THS,
*x2: REHEIZ4A58~7848TH5, *x7: REHEIZ10B3E~1HA6BTHD,
*3. FREHREIL7TA4H~10A3BTHD, *8:FREHMEI1A7B~4A3BTHS.
x4 FREHREIL7TASH~10A3BTHS, *9:HREHMEET1A7BE~4A78THS,
*5: FREHEIZ7ASH~10H28TH S, *10: REHMIZ1A6B~4848THS,
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